Reggie and Kayla


Science Texts from Biology and Earth, Space, and Environmental
Agenda: 25 minutes total with English Department

Introduction (2.5 minutes): Today we are going to look at science texts taken from the Science MSA and Biology HSA.  As the English team, reading and comprehension is important when it comes to critical thinking.  As the Science team, our focus this year at ACCE is on our students developing critical thinking skills.  So, we are going to look at 4 passages (2 from the MSA and 2 from the HSA).  From these, you should be able to understand that 1.  Critical thinking skills can be applied to informational texts 2.  Success in science requires making logical inferences from informational texts and 3. Students must cite specific textual evidence when drawing conclusions from a text in order to be successful on state tests.

As a refresher, the Common Core Informational Text Standard is: 

RI1 CCR Anchor Standard 

Read closely to determine what the text says explicitly and to make logical inferences from it; cite specific textual evidence when writing or speaking to support conclusions drawn from the text.

(Pass out the packet of questions)

Each Passage (5 minutes X4): You will have 3 minutes to read the 1st passage and answer the questions in relation to that text.  Just so you’re aware, we will cold call on someone to say their answer choice for the questions once the time is up. Begin.

Person A, what did you choose for #1?  Person B, did you have the same answer? (if yes), What textual evidence did you find to choose that answer?  What inferences did you make while reading the text?

Repeat for number of answers: (be cautious with their responses and adjust accordingly)

Repeat for each of the 4 passages.

Closing (2.5 minutes): As you may have noticed, critical thinking is ‘critical’ when it comes to performing well on the MSA and HSA.  We hope you all feel exposed to the types of passages and questions given on the state exams in relation to Science.  With this, we encourage you to push the students in your English classes to think critically when analyzing passages.

Passage #1: 

Directions - Use the technical passage below to answer Numbers 1 and 2.

Fill ’Er Up . . . With Soybeans and Corn


I’m sure you’ve heard someone complain about rising gas prices. Well, someday they might not have to worry so much about it. Agricultural Research Service scientists are studying other fuel sources that could eventually replace petroleum fuel.


At ARS’s Beltsville Agricultural Research Center in Beltsville, Maryland, scientists are testing to see if government vehicles can use fuel made from soybeans, corn, animal fats, waste greases–like used frying oil–or other crops.


These tests are part of an effort to cut back on petroleum products–and to create more uses for U.S. crops. If the project works, more soybeans or corn will be needed to make crop-based fuel, or biofuel. This could be good for U.S. farmers because the more corn and soybeans people need, the more farmers are able to sell.


Another good thing about crop-based fuel is that it burns cleaner and produces less soot, the black smoke that comes from cars and trucks. Crop-based fuels may help engines run cleaner, decreasing vehicle repairs.


The Beltsville center is ARS’s largest research facility. A total of 140 tractors, trucks, and other vehicles, including snowplows, are gassed up with “B20,” a mix of 20 percent modified soybean oil and 80 percent regular diesel fuel.


The ARS National Visitor Center bus, which is used for Beltsville farm tours, runs on crop-based fuel. This bus was the first ARS vehicle to fill up on soybean-based fuel.


One disadvantage to using crop-based fuel is that it costs more than regular diesel fuel. However, the price may drop if people use it more.

1.  Which human activity has the most positive impact on the environment?

A
using cropland to feed cattle 
B
selling soybeans at a high price 
C
recycling cooking oils to produce biofuels 
D
reducing the number of acres of corn planted
2.  If the demand for biofuels increases, how might the environment be positively affected?

A
There would be less air pollution. 
B
Farming equipment would produce more pollution. 
C
Carbon dioxide levels in the air would increase. 
D
Natural habitats would be converted to cropland.
Passage #2:

Directions - Use the technical passage below to answer Numbers 3 and 4
The Good, the Bad, and the Algae

While the name “algae bloom” might sound like something pretty and delicate, algae blooms are not sweet-smelling flowers that blossom in the Chesapeake Bay. In fact, they have much to do with the nature of algae and the way people use the land around them.

What Are Algae Blooms?

When nutrients are present in excessive amounts, algae grow rapidly. Their numbers can double in a day. Population explosions of algae are known as blooms.

Because different species thrive as waters vary from warm to cold and fresh to salty, algae blooms occur throughout the Bay and throughout the year. However most blooms appear in summer, when sunlight and nutrients are plentiful.

Depending on the species, blooms can form scum, clumps or mats that float near the surface or grow on the bottom. Blooms in the Chesapeake are most often greenish, red, or brown.

How Are Blooms Harmful?

While higher organisms–such as zooplankton, clams, oysters, minnows and menhaden–eat algae, blooms provide a large surplus of food. Some species low in nutritional value can weaken the organisms that eat them. When algae die, they sink to the bottom. Their decomposition uses more oxygen than they produced when living. The grim result is that blooms rob water of the dissolved oxygen that fish, shellfish, and other aquatic creatures need to survive. Blooms block the sunlight needed by bay grasses, which produce oxygen and provide habitats for fish and shellfish. Some blooms produce poisonous substances called toxins. Toxins can weaken or kill fish, harm land animals that drink contaminated water, and cause skin irritations and stomach problems in humans.

How Can We Control Blooms?

Restoring forests and wetlands is a way to reduce the flow of nutrients into waterways. The trees and vegetation soak up nutrients much like a sponge, acting as nutrient-storage devices. Planting forested or vegetative buffers along waterways also helps slow runoff, allowing more nutrient-laden water to filter through the ground. Restoring populations of algae-eating organisms, particularly oysters and menhaden, is yet another important way to counteract algae blooms in the Chesapeake.

3.  Why might the animals in a bay be affected by large numbers of dead algae?

A
The animals have less oxygen. 

B
The animals have less nutrients. 

C
The animals are at risk of algal infections. 

D
The animals are at risk of freezing in the winter.
4.  Which human activity would most likely reduce the number of algae blooms in a bay?

A
converting marshland to cropland 

B
adding trees along stream banks 

C
building shopping centers on paved areas 

D
increasing the amount of fertilizers used for growing crops
Passage #3: 

Directions - Use the technical passage below to answer Numbers 5 and 6

Human Cloning

Identical twins are an example of how human cloning can occur naturally.  An identical twin is created when one single fertilized egg splits into two before it is implanted into the uterus.  Identical twins can be looked at as clones because they originally came from the same cell.  Although identical twins have nearly identical DNA, their traits and physical appearances are not exactly the same.  When most people think of human cloning, they are not thinking of identical twins.  They are usually thinking about artificial human cloning, a hyman close that is created in a laboratory setting.  Several types of animals have been cloned (sheep, mice, fruit flies), but there has not been reproductive cloning of an entire human being.  Many ethical considerations must be taken into account before the cloning of a human is undertaken.  Animal cloning has been extremely inefficient, only 1 to 2% of attempts produce viable offspring.  About 30% of clones born alive are affected with debilitating conditions.  One such condition is “Large Offspring Syndrome” in which the organs of the animal are abnormally large.  In addtion, scientists are unsure how cloning will affect the mental abilities of human clones.  Scientists believe it would be unethical to attempt human cloning in case these same issues exist.

5.  Which of these is a FALSE statement about identical twins?

A
Their traits are physical appearances are exactly the same.

B
They come from on fertilized egg.

C
They have almost identical DNA.

D
They are an example of natural human cloning.

6.  According to the passage, when most people think of human cloning they are thinking of what?

A
identical twins

B
artificial human cloning

C
dolly the sheep

D
fraternal twins

Passage #4:

Directions - Use the technical passage below to answer Numbers 7, 8, and 9

Shortage of Honeybees


Honeybees are very important to agriculture.  They produce honey from nectar received from plants and they in turn pollinate, or fertilize, many plants, making seed and fruit development possible.  In recent years, severe weather and attacks by newly introduced insects have seriously affected both wild and domestic honeybee populations.


Two species or mites entered North America around 1980.  These mites weaken and kill honeybees by consuming their bodily fluids, blocking their respiratory passages, and spreading germs.  European and South American honeybees developed this immunity to the effects of these mites.  However, North American honeybees did not develop this immunity.  Vy 1995, infestation with mites reached epidemic levels.  In addition, the harsh winter of 1995 to 1996 killed honeybee colonies in many states.


Scientists have observed a significant decline in both wild and domestic honeybee populations.  This loss affects beekeepers and farmers.  Fifteen percent of all agricultural crops require bee pollination.  Farmers have had to look for other species to pollinate their crops.


Honeybees are not only pollinators that have decreased in numbers.  Many other insect and vertebrae pollinators throughout the world have been killed by overuse of pesticides and habitat destruction. Many wild plants, including a number of endangered species, depend entirely on one animal species for pollination.  The solutions to this “pollination crisis” are complex.  It is clear that efforts to save threatened pollinators cannot be separate from efforts to preserve threatened plants and habitats.

7.  According to the passage, which of these is most responsible for the decline of honeybee population?

A
an increase in population

B
the use of bees to harvest honey

C
the introduction of foreign species

D
the use of bees to pollinate crops

8.  The relationship between the honeybees and the plants they pollinate is an example of

A
parasitism

B
competition

C
mutualism

D
commensalism

9.  A mite that consumes a honeybee’s bodily fluids is a

A
parasite

B
competitor

C
mutual


D
commensalism

